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Choose the correct answer :
w% ol A e :
ws el e e . ERRE
T frmae waE’ '@
el I ﬂ'ﬁ‘l : |
1. Addition of aqueous solution of barium chlori'de to aqueous sol;lt;ﬁn
of sodium sulphate results in insoluble barium sulphate an e

solution of sodium chloride. Which of the following is the cogeﬂ
balanced chemical equation with state symbols for the above

reaction?

| @R @A e T W 2R gecesd wam g (IS IR TS
TR @R Bt WiF BTN #'4Med w1 45e X' e RIFuoE AWl
T (FRCD! - o T ST W A ?
@A GRS SR 41 W32 CTIRAN AP ol 94 (@19 S99 FH
WER RRAR AECEs @< CIRAN @RS W9 2Fe Al | T RiFma
T MY (@ RY-BEre Thre Wt vF 12
AREW F ugeH TR AR T afeam aerhest Remate S AR
At Frerke R wfeam 71 Tgeh e SRR 3§ fersaR aram
A T st R areran ey R 7% Smie?
afem i & free vt v ¥ from & e ¥ wesy
Hﬁ@ﬁﬂﬂmwﬁmﬁnﬁﬁmmwﬁaﬂmﬁmﬁlwaﬁﬁm%
%qﬁnﬂﬂ#:-wmw-ﬁaaﬁamﬁégﬁﬁmmﬁaam%?
(A) BaCl(ayg)+ NaSOy (aq) — BaS0y4 (s) | +NaQl (aq)
(B) BaCl,(s)+ NagS0,(s) — BaSQ,(s) + NaCl(s)
(C) BaCly(ag)+ NagS0O,(s) — BaS04(aq) +2Na(] (aq)

\ @7 BaCly(aq) + NayS0, (aq) — BaSO4(s) | +2NaCl (aq)

2. Which of the following does not involve a chemical reaction?

R (TS IR RfF w51 A% 2

TR 1 TR e sy |
\@Igj ;t Tt tramafe s T8 Tt ?
. igestion of food / M Y 21/ RIOE-
RS/ ARR A T
/
ISR %1 ey
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(B) Respiration / 5= / ¥ / §TWE / T84

(C) Burning of candle / YRS TN / (IS @@ / ey @ryma /
Wi <1 STl

e
(DY~ Melting of candle / SIS 511 / (INAMRS si=11 / 7oy nifemma /
‘:fma'r'ﬁih'lfrﬁm

8. Which of the following laws is satisfied by a balanced chemical
reaction?

b1 >fere IPTRfRE RfFu ©o@ (@ 3@ TR 5 2
a3fb Efre armie Rin Fore @R b @ 529 2

A Ty TEEATR R TeEt e e miv qifer?
s agfera TErte wEm e i @ e frem @ weeR e 87

(A) Conservation of momentum / SI(3I9J W“I’iﬂﬁ‘[@ /I
S THEENeT] / Aramai TRATAf A9 / gan % aew 1w

M(J‘onsewatiun of mass / S99 THIore] /ST THOAEAS! /

ARmaify S / 5w & e &
(C) Conservation of energy / *f&a Tmafiere / *f&1 THoTS! /
N IRER A9 / At % aeer
(D) Conservation @%ensity / 97 THerel / 90ed Wﬂﬁ’lﬂ@ /
\6§ A=t S99 / g9 & wen = e
Q
4. Which one tﬁbﬁe following is olfactory indicator?
@ (W1 JCER S5 2
fcare @M JAeefEs o ?
ety TE AAmEar R emn?

i 3 § A-81 TF T gEE 87
(A) Litmus / b / faams / feea / forem
(B) Turmeric / T8 / LG / Bl / Bl
,V&@i/Vanilla/@ﬁﬂfﬁrﬁmfﬁﬁw / afem
| (D) Phenolphthalein / = Tl / ﬁ‘ﬂﬂ“ﬁ"ﬁ / T s /
a - R ic
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5. Meta] oxides are

HTgTR HFAESHRY Srary %%..El
O]~ X3

(A) acidicf%fﬂm/@em/w
basicf‘ﬁm%fw%wmw/m
(O neutralfw/mfmmmmﬂ:r

(D) None of the above / ST BI8 zy / T qafhe |/

MMt Hrda 72y / 9w A § 8 48
6. NaHCO3 and Na CO ‘10H 0O
- Tespﬁctive]; 3 24 are commonly known as

NaHCO3 I N&zCO -10H
3 20 T Tiyears FEey
G T g o

NaHCO; @32 Na,CO, 101
= T |

NaHCO3 am NayCO4.10H,0 = WHETE  wiid) W
Ferferay

and

e

20 & RS Ty 32

NaHCOQ; 3ix NaoCO3-10H,0 =Y mumora L .
% T A T S T

(A) washingsoda; baking soda /1w cyray BT, @R 7/
PITE (U GTre1, (Jfde CTre / fa-gm w'er, ¥f ]’
L M 1 Wrer, Yien e
f_@j- baking soda, washing soda / (af¥e B, IR CHRT %>y /
BIRE @R o, 3ere am e /3% q'gy, R-gm wayy

ot e Her, D
(C) caustic soda, baking soda /3'fg 2, @R %y /

CTrel, QR T / ' 1, 3wy /

FIRF Grer, I By
(D) baking soda, caustic soda / GfR% 251, 3 %"y /

Qf¥ crel, #%% G/ afs T, W w we
|IST, HRes Grey
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7. Consider the following statements regarding tooth decay :

W ST e SRETARDT RTIEAl 34
VPRI (W0 e S sl Res e IEJ--E'
FroTs SE TR Yemara TEE gl i &
Zq-y7g F o §, e FoE w fEw hife

t\‘ (i) Tooth decay starts at a pH lower than 55.

| pH 3 TR 5:53 o7 F'E TEHE A1 W |

pH-93 WA 5-5-9F A T TG o1 =W |

pH A 7= 5-5 firgs @H SIRieen UM ST A S

e & pH 1 9N 5.5 Q 9 BN W Iq-4 T B/ S 2l

Tooth decay is caused by phosphoric acid which lowers pH.

T'55'RT «ftrs pH I [ 3 TR I 777y A |

T Stie pH-93 I I [ TCA 3=y 24 | '

m’ﬂm@mpHﬁmm@Wmﬁwmwﬁmw

S|
éﬁ—mﬁ?ﬁﬁaﬁm%w@m%@pHmmmmm

Which among the following options 1s correct?
TR (@ RFWC ¥R ? N
Sieva @A ReE® wa 10

' ?
Q
s g a?m-qg?@m & e?
(A) (1) is tr%e and (i1) is false

(i) e S (ii) ST
(1) 7o) W (11) S ERRE

(11)

(B) (i) is false and (i1) is true
(1) STe] HIF (ii) )
(1) TS 3R (i1) 7S]

(i) ¥R IR (i) MO B> (i) TR 3 (3i) IR
() wé & 3R (i) T B (i) e B 3R Gi) Tl R
(C) Both (i) and (ii) are true (D) Both (i) and (ii) are false

(i) S (ii) TCAO! 5 (i) S (ii) TCRTT ST

(i) @’ (ii) 0% 3% (1) @ (ii) 4oX T

(i) 3 (ii) AR 9V (i) 3R (ii) WA MU

(i) 3 (ii) 2w (i) 3R (ii) <1 T &
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8. Which of the following metals is the most malleable?

TER (I SABIRSLF AT 4T ?

e (@RG SRCCE TR 4P ?

A A SafggE gemseT U1g?

o= @ FA- uig T ifte srETadd 87

(A) Sodium /=R / Gifeam / wfeam / Afean

(B) Iron /i3 / SIREA / SIS (W) / MG
@Q/Go:;fmﬁ!mfwimm

(D) Copper /¥R / T (SM1) / 9 / AT

9. If metal A displaces metal B from its solution, then
T A qr9r@ B 4199 TR G99 o[l WopTiAS e, (ofeul
M A 419 B {1903 T2[ T3 (WS FAPIIS FCF, 4
R A urgan B uigh fiermafism sar g, 3T
3R UTg A, UTg B ) 36% frerm A freenfia w8, @
e reactive than B metal /A W9 Bes @k sifeu /

j A is mor
LA A@Baacwcaﬁwmmu@mBﬁqsm%ﬂmf
A uig B @ 31ite afe @

(B) B is more reactive than A'metal/B 4% Aets @ wiEFy /

B (. 4599 (Y0 @i Afew / B H@Aﬁl@gmﬁﬂm,’
| B uig A ¥ 31fres whea &

(C) A and B nfetals are non-reactive /A SF B 41y Sf&q =1 /
A a3 B 413 S8 T/ A 3R B ATgan Wi 8T/
HTg A 3R B <1 | & §

(D) A and B metals are equally reactive / A SIF B 419 SI¢ Siferd /
A G B 413 SHINCIA F /A 3R B uigen G9A Wil /
urg A 3R B <M g9 wiF ¥

10. Cinnabar is a sulphide ore of which metal?
RITCH! M9 TEIRT SFRE 2ol BRI 2
@ qSfa STETTRS ST Z¢oll R 2
TR ugh AEETEs $REATE SEr R
Ry fore UTg 1 GRS 3T 27
(A) Copper /T 4R /TR (SN /FIR / HIR (Gfan)
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L/{,B%f’/ Mercury /TR (1D / TR (1) / Wit (arr) / 78t (97eR)
(C) Aluminium / i / SUERN / wgfifam / gt
(D) Iron /SEE (C311) / SNEA (CIR) / 3R (WR) / &Aven

11. What can be the maximum number of sulphur atoms present in a
molecule?
! QPR WS FHRF (! Y ARF MR?  mamm
G TP TS SHIRE T0 Y IRFTS TR 2 E%
WY TR TEEEE WA A8 T 4= w0
TEH o TF U] § waiferen fray Ty 1 wd 87
a2 (B) 4 ©) 8 (D) 10

12. The name of a compound containing three carbons and aldehyde as
functional group is

51 TR WF GATCRITE IR TAF T MNIOR T 24
fomfb I @a2 WERLLT IR To7@ A (AeAfos TR 23
A FE iR ASeEs wHEEiers §g 9 A 1 A |
(A) propene / 'R / canfm / St /- d (
(B) propanol / &’ @ Y-Ceee / Fared / P IEE I

(C) pane / 278/ CRTCOR /997 / F9
ﬁ{;anal (T SATCET 1 TG / SO / W

18. Which of the following statements is true for an oxidizing agent?
SRAF HE CFAS, 6 BRI (FINCHT 7S] 2
W oA Cwcd s Sfeefr i e ?
iR gAY e e SRR T 9w
e ¥ a7 §, e § § F-w 9 9 81
(A) It gives hydrogen. It gives oxygen.

% g ficg ) E3B0E % w3 fao

<5 ZECYEA | }% f ot SfTem om |

¥ TR B Fq R )

7g EESSA o B 7z it a1 R
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(C) It takes oxygen. (D) None of the above
Y S =7 | s e o1 7
> A R XER oAq GFivS T
< R T TR T=EET 8T
g TS T80 Xl B ol & 2 A

14. In the Periodic Table, which of the following properties increase
from top to bottom in a group?

RTS8 oS wor (IO 4 35 GBS GO ] weile AN ?
g8 efers e @ ot wofb wof Tom e Nesa fe s 2

aﬂfgﬁﬂﬂW’mwmﬁnﬁmﬁqmmmﬁﬁaﬁﬁmmﬁ:

3 wneft #, fr 3 @ B-3 et wg § Sw R A AR weR ¥
(i} Valency / r&re! / (ArS7e! / =Y / Haysrarar
(il) Metallic character / 4re3 Q9 /41e3 &1 / AigaTR AGIT /

| | urfea o
(iii) Effective nuclear charge /3% S w4 /
Wﬁﬁﬁﬁ@mmﬂmmﬁﬁmmﬂfmmm

(iv) Atomic ra@és ! *TRRS AP / IR Ty / v w e /

& M
(A) (1&d (i) it'; . (B) (i) and (iv)
(i) SR (i1) S () I® (v)
() @32 (i) (i) @=% (iv)
(i) TRY (ii) (i1) 3R (iv)
(i) 3R (ii) (ii) 3R (iv)
(C) (iii) and (iv) Mﬁ)fﬂ and (iv)
(iii) &% (iv) (i) % (iv)
(iii) @R (iv) ' (i) @ (iv)
(i) 3M (iv) (i) 3 (iv)
(iii) 3R (iv) (i) 3R (iv)
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16. Element X forms a chloride with the formula XCl,, which is a solid
with high melting point. X would most likely be in same group of

the Periodic Table as
(M9 X XClo ACFSR #'IMES 9164 I, b1 U someeq b1 condt =md |

(e X R @GR O e ORRe et IS IR SORA

TRATSNF @R 7
(M X, XCly ATITST GRS 5164 I3 | Gft TH sem1aa @3 7 omied |

AF X Mo (W0 % 1figs SR u3t 3ol AR R TR (9T
?

@M
TfegE X o XCl, Wy wor'age Wmfia) ) dar st e =y ai
TogaT) REET X N MeEf AEfl AR iR yw'enh W s

AT STATEAE Fafgs Sifea?
T X, XCl, G a1 UF FeNES ST 8, S U 39 & aun fwen veriew

1 8| ad |roft # X dvea: fra age & sfarda gm?
(A) Na g (C) Al
16. A spherical mirror and a thin spherical lens have each a focal

length of —15 ¢m. The mirror and the lens are likely to be
G (TERR WA W 93 W (TERR (GRR 20OR ¥ IR O

~15 cm. TR S (RS APRS (FAFAN T IS ?
G2 CIERFR ol @3} IB W (TR G TR (FRP ol

~15 cm. 7of1 @3 G [ 47017 TS 2
TR gER FE AN T NIOGR A A B TAARAT ~16 em. I

IR AW ARGYTEAT TS F?
o Mefta qh0 qULUR Taa- MY oF, TR h BIEE gt —15 cm ®1 T4

Ao o Y TS B el 27 -
(A) both cénvex /qraRe et / iy Taw / e wE / <l Ive

both concave /JCHINA wqe / b TReE / TAE) Gels / Sl e
(C) the mirror is concave and the lens is convex

TIZAAI Soe HIF (IR a9

ol Saee IR (ETE bae

AT @E AR A=[T G

gy oTadd & SR T 309 ]

(D) the mirror is convex and the lens is concave

w1 TG HF (@RI e

7ol TG R (FEIG IO

AT T AR A T

zdu I © 2R o9 39dd 8

(D) Si
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ced 17 cm from his
17. A boy is unable to see objects when they ariiﬂl:ye_ This defect can
eye but can see objects beyond 40 cm from
be corrected by using g (69 53 °F
G A’ (3T TR °[ 17cmﬁ3§@3‘ﬂ1§f’;ﬂgﬁm R R
40 cnolS ST AT A T (7 MW 92X & org 1 78 O T

| TS
a3 e ©R T (WTF 17 em TR AN o o
(WF 40 cm (ICF T TACY A 7@ (S T o oo CMERR

@ T T,
e Ao At | 17cm£rqfrmz@az§aﬁa?rgmuqﬁ
EMW%WMcmﬁmm;&mt@a@aﬂaﬁg{:%ﬁ;ﬁ%@
w21 Ta AN F A T R fe 3 A e St IR R .

l/(xﬂonvex lens / T@e (iR IRTI I/ %;mﬁ;;ﬂw ?Tﬂ/fm s

72 IR/ FIee &7 ITRA A/
(B) concave lens /% (TR il / -

C) bifocal lens /-7 TR iR T2 IR/ T&-CFRPT &9 IRE I/
(© Dol e A-w'F T SR [/ e dw

(D) contact léns /TR IZA R IWWE\;:@ R ff aﬁ N

18.- The image formed by a concave mirror is observed to be virtual,
erect and larger than the object. Where should be the position of
the object?

SR We QAT Ao T AfSRTO PR, AW W PHREELF TIeT o
5% | FFFRGT ATLA T T FM ?

3B SIS 7o AR o1 31 A R, T 9R THRT (WCF TS o]
(o | FFREI SREA (AR 28T TS 2

TR AT T AR AEST A, i SR AR g R
fa | AR g arEE JeEE S A

B24-GS/103B ( Contd.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

( 11 )

et fam = rgaw odu g =1 wfafsm smmd, dar qu fim @ s91 @
T | g < fRufa el A =ifRa?
(A) Between the principal focus and the centre of curvature
T0 F'IR A+ ST IPHT IEO
ERYE

T (TP G ST JPIE Y
]

e & 18 AW T Bl 9 O]
Y& HIHE U1 Ghal $5 & S

(B) At the centre of curvature
oE (FEe
TS (FCH
gar firea
Tl F8 |
(C) Beyond the centre of curvature
o (¥4 RIS
war el FEsieE
FEA HE A R
’é&etween the pole of the mirror and its principal focus
AR (% ¥ o1 I ¥R 5 ;
TR (AR T Y (PN W
AFAIR FE AW AR MER G FWH THRE g D
zd01 F g9 TN J&F FIFE & d" =

19. In an experiment, the variation of current with the applied voltage
for a conducting material is obtained as shown below :
+AfAAD) T GEER FES I AT A I (LI S ARASe faygge

oo fuan ¥aTeT CRT S1°4 ¢
G3f} ~fAAD) I CFA A1 ARAFCS AT FA SRS % S e

ftaTe 4303 NS (57 :
¥ AR AR ATRE GETEE HSRE AEEAH edwEl Qieawg AfeE
MR TEEE A T Ay -
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UH e N, Al e wogam A Romie @ RAgaoaa 4 aiads
B e N Ran o dam b

A
Voltage (V) /
Ut /
u-.:';m-
Wed W
g;g fwaime | ,
b : Current (1)
e
[
M CTER
g

Which of the following conclusions is/are true about the conductor?
@ TRRS @D By R0 owas e 8747
fAors @ SR YRR ewvea e 3
TERTE @ AN AW g Ramf Jarrg anw s
M Ry e weE F A D-a1/3 wers S oo ger {787
(1) Current increases linearly with the voltage.
BHEY S Qe Talvera 3,273
Sianiine BEUIN @ﬁwm LERICR
SEa ) S}u gRatsuld Pl

fasaiat & R@'H{'"{ W wv @ Frega-wu § afy 2l
(i1) Resmtrﬁ&e is different for different values of V.
Ve g=a ovae @y Rag’s) ERE

V @9 fBH e owea iy R wa 1 Eik
V R 987 197 WA S 9 A @ e
V& fafts ot & e wfady fm-fm 2

(iii) The slope of the graph is same for every value of V and J
V % 1 23 WA CHAS A RS 7 | |
V @3 7 TSI W CFCG AT 2T 'y |

V amd 1 \em 7R demE mei (dvammiy
vm:%mm%mmﬁm(w))m“”ﬁrﬁ"“”l@'
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(A) () only /g (i) /W& (i) / (G) &'/ Fam (i)

(B) (i) and (iii) / (i) ©F (1ii) /() € (i) / () W (Gii) / @) 3R (i)
(€) (i) only /¥ (if) /¥ (i) / (i) 3=/ Faet (i)

(D) (1) and (i) / (@) == i) /(1) @R i)/ G) 3M (i) / (1) 3 (i)

Which among the following diagrams correctly represents the
current-carrying wire and the magnetic field associated with it?

Rpe R 7 gurR e TS T CFagm o A @EE THR

SR e kg ?
q@iﬁﬁmwﬁaﬁ"ﬂmwmﬁrcﬁwmﬁ% credl (I AR MR

Ao T3 2
NfeAa 2ER RN R RS TR AT Gee i MEEE B A
i@ 1838 RfFme?

fr & @ P9-a1 T ot R uraTd arers aon 3 HRY I g
c%sramﬂ‘tﬁﬁwaﬂm%?

B A

(A) (B) ) (D)

\

Which of the followi \Qcorrect.ly describes the magnetic field near a

21.
long straight wir
e (IO Coll, et +fRAD) ST $69a (BT ¢ wFed I
A7 N
S @G G0 CE, 7E ARAR orad Fee Oree T8 waeid (4

P 7
e WA <5 T, T S TR |t e it A9 e

Ao § ¥ #9-g7 F @@ Rya aREd ar % e gedE 83 W g avia

+ar &7
(A) The field consists of straight lines perpendicular to the wire.

B SO 77 SRR 1S
cwafD STAba 77 eI S|

aferar anfy iR Mt gEt IEEE |
g 4 A & @ qr % deaq e 8l
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arallel to the wire.

(B) The field consists of straight 1i8€® P
CHROA S[ACER @9 HIA@ A 53 |
CHaf SRvE TEAE ey S|
aiferan arfy fh Mt gras A |

%ﬁaﬁi}amm%mzﬁ?ﬁgl d on the wire.

(C) The field consists of concentric circles centré

CFRF AT (FHS 4F] G T8

cwaf® i (e AR R 8 %%?
mmmmwzﬁmﬁﬁll L%
g & H gD aF Y@l F1FR a1 _
(D) The field consists of radial lines originating from the wire.
wm%wwwwﬁaﬁﬁmml
mﬁmﬂﬁcwmiwmﬁﬁﬁﬁﬁﬁmﬂ.ﬁﬁl
AT A sitare TR aRfi At g e |
Eﬁ#ﬂ%ﬂﬁ%ﬁmmﬁ?ﬁ%ﬁqmmm%ﬁm%f

22. The human eye forms the image of an object at its
WER 59CA 37 BrE 2SRy sib IR EW A
qER Fr AR AR g8 g deiEea e

(A) iris {B) pupil : retina (D) cornea
7 539 79 54 W14 Rl Ffefar
Q) COTCR Tl CoTCIA w9 oG fera
| Toafte W it
R gait Jieves weoisH
23. Why is the colour of the clear sky blue?

e SrE R [en ¥ 2

¥R SR 38 T T2 ErE

|1 |l gl T e qE? 1

@S AN A 1 A Fal aar 87

(A) Due to reflection of light / ¢sirzg A Sperrg
, MR / =
ﬁ%ﬁmwiﬁnﬁﬂﬁﬁmﬁ%mfm%qmﬁqa;m
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(B) Due to refraction of_light !/ TR SfSSReR AR / e
+fSarey wou / St RFgTmaf urarr / v ¥ sp9add % FRO

(C) Due to scattering of light / (*I23 RTsseiem 13 / ST
Rewonem w1/ S J TR 9rEm / g & sl &

Wue to atmospheric layers / 9 VIR I / AHITEF VRS
W / SRS YREH / AgHSHE TR & BRI

24. Which of the following is not derived from the Sun’s energy?
S W *fF SR ngiks 72w 2
e w1 G s 7 7 gﬁg
TeRfA AR Aieen gR-vieR R =1t "
= § ¥ - et @ e sl T8 /7
(A) Wind energyfﬁTﬂW/?ﬂE‘T%fﬂR wifth / 957 S

(B) Geothermal energy / $-S19R % / -0 ~ifs / yA-faig =itk /
i Fei

\/(C/)/Nuclear energy / REHT = / AEFW =% / xmmani ot /

AR Sl
(D) Biomass / &as3 / &igeg / Ta-wigmai /99 HET ._

25. 1kWh = joule
1kWh=______ 99
1kWh=______ &

RS o

1 kWh =
1kWh = IS
) 3.6x10% (B)EBx10° (C)3-6x107 (D) 3-6x10°
~ The SI unit of power of a lens is

@ Rd FASR SI 9FF 27 =5

TR wAoR SI T 2l o)

afy AR SI wFReA SE™

U o i e a1 S ?

(A) joule \(}BJ dioptre (C) ohm (D) ampere
LGl TR’ DR oy G
Ll TR < gl
T AR ¥ R
S AT A LG
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27. 1eV.=

-19 J

3A§' 1-602 x10~ 187 (B) 1-602%10

—-16
() 1.601x10~17J (@) 1.601x107J

ts
28. Ozone, at the higher levels of the atmosphere, preven
NG TH TAC GG A 4T A
IYRSTAT T® WA SCwH AN (A @rE
TSR TR FRPITE 37w el ST T E%
argHed & I8 W A NS U 8 o
i iati R / SRR Rt/ T
(A) infrared radiations / SICENE® 1 p

(B) visible light /5 af /i 2/ 398 It / FEAH NHERI

UV radiations / S S IRR Ry /=i @ IRR R/
A s e o ey v / e R

(D) Both (A) and (C)/ Ty (A) 9% (C)/ Tey (A) W (C)/
AAET (A) 3T (C) / (A) 3R (C) a1

29. Which of the following is not a renewable source of energy?

oS R (FRCE e STy T w51 2
fAare @A SRE FATATTN T T 2 ERRE
et AT A R e e T 5%

e & & A= S T v T e T A

(A) Sun (B) Wind (©) Fossil fuel (D) Water
il TR &Rra S o
ksl TR BmMTR g
o= an VoS A
L% T et S .
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30. The source of the formation of coal and petroleum is

TN W Cof PEm Wy BT T'H

FUA G RGO S16eaa Be37 2gom

Wl AR ¥ Roram T Em W Y
FIGAT T T F R AW D Qﬁlﬁ

(A) coliform / Jforey / sfor / wfers'd / Siefwd
t (B} biomass / §7=1 / §iven / Fra-wdwai / 35 wEn
(C) greenhouse gas / Gi%seR (1% / &2 *0PT / WRER 7 T8W /
ey (du=R) T4

(D) ocean water / FZPTE ~1F / T2Afow & / v ¥/ werami st

31. From the energy flow diagram, it is confirmed that the flow of
energy is

% 2arza ¢ Bag °[1 <1 v91 =18 @, *Rex sz Sy
¥ 27wz talke B (W 3 U =% @, g 27w
gﬁﬁmﬁmmma’n&ﬁmﬁﬁmﬁmﬁ,mﬁﬁﬁﬁ%ﬂm
o1 WA % Was i A 78 Rig B @ B ot = wae wde

(S unidirectional / <R/ <R/ Yerare / T B &
(B) multidirectional { &I/ I=33 / IrrETeTR / g B &
(C) upward in aig/<ge SHTH / LS TEYJ / IR Temrarey /

g E FR A AR By 2

(D) downward in water / *IR1® sy / 5t W49 / Y Tery
TR / F F AR i B 2

B
.__) }};.. Y
— ollo

4

32.

<

f&n electron enters a magnetic field at right angle to it as shown
in the figure above. The direction of force acting on the electron

will be

foqe oS A TR, B WA 9 By TR TR
AR S fF 341 7o By 272 e R |
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Bt o W, 3 AR 3 B oFd OF TFeRd AT FLAR |
AW e form 31 Tem o =@

T R R AR R i g aieE af b geed) |
TAFAN TR IR GETEE St Bnen s

o & zwie agEm, 91 Wi Bl gy &9 3§ %ﬂ%mmm%l
TTE W AR sa 6 R = 2ofi? 5]

(A) to the nghtfcﬂwmtmwmﬁwrwmmmﬁ@n
(B) to the left / A¢wEs / AN / AV BRA / T AN
(C) out of the page / *PR IMRIL / PR %7 it / T smasiam /

FATE Y B h AR
Mﬁl the page / %P fwats / P ez firze / R faerd /
TR R i i o

33. A current of 0-5 A is drawn by a filament of an electric bulb for
10 minutes. The amount of electric charge that flows through the
circuit is

51 LT AR SEeE 10 RS e nsAmmlzr%—mﬁr
¢zt e, SNgER AR [ 2]

G A qres oF 10 Rf6 T9w 05 A oA oW | A e
Z6U RAPRST TN AR 23

TR T wea aralh 10 Bt T 0-5 A AfsTT IER e | FERTsaE
At M gy e SA

e FaH T AR 0-5 A FrE-9mw 10 R o5 vanfea @ 81 fR™
qﬁqﬂg@ & Targd 311wl 1 aRwor 8rm

(A) 330C .~.(B)310C  (©)320C D7 300 C E%
e

34. Amoeba engulfs food from its surroundings and forms a food
vacuole with the help of the

«fiRlE o/ BPPR A\ HWWHWWWWW
R IR

wﬁmmmﬂmm_-mmwwm GR RS iR
@I

fvarn ffy Axffifem A 3weEE mfamqm
Z= emfEr | T SR
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CLIL] AV ama 0 AN qan o e gew aam ¥ st
b s B

(A)  pesudopodin / 'J*Ti'ﬂ‘f / '}'-‘G"’FH / A sifly sy (g2 )

(B) cilin / fotom / ffanm / §afern / foferm

(C)  flagolla / qpcem) [ wicom) / saXen [ i

(D) tentaclen / »#(# [ »a{x | Sty [ o

38. Xylem tissucs of the plants are responsible for
Tfgva sttt v wifg o's
igom wftcan aena wig soa
argnTta g fampfa faar s
TE0 % AL Fk w0 B

Wtr&nunortution of water / A4 “fAa0e [ swma “iaea /% D /
e o e

(B) transportation of food / 42 “fa454 [ i “iaqea [ Ame v /
qYHA ) ufreed

(C) transportation of amino acids /@ afova #faqse / sigfacn
e 'frf@--{fufru uferr tar /1 oden- v w1 e

wiincaaa «faqee / ufnceicaa «faaea /

(D) transportation r:gﬁxygc n/
gfngaa vy /o Atadraa a1 Jiraea

\Q‘G
36. To drive the @tmns, epdothermic processes in the cell use
e we’ufds ffmn sefbs am aca oo A5 A4 |
e wesif Pl sieafts 2 s (A Ao A |
forafrrara fargam fermargen Aty fafgn  sreen ) (
Fifera sanarh afufEn 51 gnfza w24 & a0 g xd By
(A) ADP ATP (C) AMP (D) CO,
@ fe.f. «a.f5.14. 4.9, M vty
9.f8.f. @ f5.14. .49, ITAR e
n. fz. fa. n, f2, f1, v, vg, f1, FHA gryaagE
7o Elo Hlo 7o o fo To THo Mo wPA gy At
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37. The gap between two neurons is called
vo1 e T 1@ SRR @ R |
FURARNECE RS (o o N o -

T Prawy o ot st g S
DA IR S F E R FEa ¢
(A) dendrite / (SgIRG / (STGIRG / STgTRE / ZiHa
/{Bf' synapse / RS / E0p / wgw / e
(C) axon /¥ / SF / THG / dhaewed
(D) impulse / (2391 / C2AN / W=iTY / AT

88. Which of the following hormones promotes cell division in plants?
Tord (FHRY w1 e (T Remes 7R I ?
e @R Sew 2 Sm (ers Remm A w F 2
Ty A AR TRET T T Rl T e e
i § & -wn gy Tl gredl F SR e AT w27
;mj Cytokinin / 225 1A / RBRAR / T’ FEfm / Wi
(B) Oestrogen /%8'78 / TRBICTA / T8 SR/ W= '
(C) Thyroxin / %3’/ AR / 9 a0 / GrERiHE
(D) Insulin /3 /PR / 3gied £ 3gim
89. Some of the voluntaryactions like walking in a straight line, riding
a bicycle, picking up a pencil, etc., are controlled by part of the

hindbrain called
R aftes T A, 9v@ B @S e I, sigee SR, cofes
O 441 SRR T I I S TF ’

Il afee I @, @I CTE QI F61, e s
431 XN e @ PIe, HRCER S wga Ty < e

@@ MEE! JESe eE St <l MY e
ﬁﬁaﬂmﬁwaﬁnWWW’wm’

T frmett 99 o € Y@ § wom, wrfve
1 P yramfarss & frw am @ o 22 I, T W 3eE e

L/ur)/::erebellumf (IR / CTfRCIo / dfvdram /
(B) cerebmm!ﬁ%ﬁfmfﬁm!mﬁ%m;
(C) pons/ /4 /91 / 94

(D) medulla/ Ig=1 / (wgan / 3gen / Agen
B24-GS/103B
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40. Single-celled animals like amoeba - reproduce by the process

of
uﬂﬁﬁﬁmuﬂwﬁmﬁmwﬁmﬁmmaﬁEJ |

SRR TS G A o TRy s 2
ity wf2 ARk AR e et
IR IR NG A R R _

&) binary fission / -Rewet / -Rewmm /% Srar / Ree

(B) multiple fission / T2Re1 / TS / 7 dramsam / agEst
(C) budding / YN / JFECEN / I Sr@marg / gge

(D) fragmentation / s / Re% / @< @emmm /[ @A

41. The anther contains . EREE
oSS TP | &
TSNS AR |
BN @O )
et 3§ g 8

(A) sepals / RIS / Fei=1 / faar wiERa / sgrRa
(B) ovules / Rz / s / fadRa/ e
(C) " carpels / G s @ /7 @rg / Sieq
JP¥ pollen grainy/ Wﬂﬁ‘ll FAFISNCIY / TRAT THTHR / TETHoT

42, Which of the foIlowmg is not a part of the female reproductlve
system of human beings?
THY (PFICHT S0 WA (R Frome OEw o wwy v
R (IR S TR e Fere oo e W2
TrEMEfY AR s AR e N s R aw T
e # @S-8 799§ T S G A R
(A) Ovary /g /Rapm /o’ / siemm .El 3-
(B) Uterus/%3g/ 53Ry / feara’ / mviivra =
\_(Cr Vas deferens / Q@R 78 / WIFAR TN / TR e / gevanteent

(D) Fallopian tube / o' fmm =8t / SIRACEN 14 / e e e /
: Termanfeht
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. ing-
43. Find out the analogous organs from the followl

Tore fra SR e f Sfersar
FafeiRe wifes o @z 8|
ey e swEE’
ﬁnﬁﬁmﬁﬂﬁqﬁrﬁm
(4) ng of a bat and wing of a bird
w7 qmER R e e R
TSR T G3R #1RR T

<Tee T g&ft % uE
(B) Wing of a bat and forearm of human
AR R TR SRS
ATEER T 3R T AT
WHIGS % TE U 94 % o
(C) Forearm of a frog and forearm of a lizard
CSTA I F (S B1917o8
AL AR QH\W AR
o fam FH ferm ey
Aeh & 31‘%\@ ER|
(D) Wing g8'a bird and forearm of a frog
5AZT 1 %SGl TR
A B GR WS AR
<raf i TR T Rt s
usfi % U@ vd WeH =& €Y

44. Who put forward the theory of ‘natural selection i -
evolution of species in the 19th century? 101" to give the idea of

g’ @i
W‘Wﬂﬁﬁﬁ (2114 m%"w“mﬁmmm

B T Wﬁﬁm -« T oreifsy
2 JTARLA 2 %@‘%W‘ﬂﬁ@m‘ﬂm@
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Ry sirurgara R s @R NSt wfen SeRmeiEe? smaiee 2

GG OR BREHA?

%’tﬁ;ﬂﬁﬁ%ﬁ ‘TR O 3R e Rem ¥ figia o gk
o1

MM/Charles Darwin / 5f; SIR83 / S5 SRS / S1ei9 SRas /
=red sIfdA

(B) Gregor Johann Mendel / f19) (SmM coes / Cﬂ‘i‘l? I e /
1 &'gm Aoa / AR 4 A

(C) Stanley L. Miller / (Bfe1 @=(, =118 / Br=fer =, Remg / #af wat.
AR/ |4 T fer

(D) Harold C. Urey/ z8'< 5. @ /3w 5, T/ e o R/
e dte R

45. In a Mendelian experiment consisted of breeding a tall plant
bearing violet flowers with a short pea plant bearing white flowers,
the progenies all with viclet flowers were obtained. But almost half
of them were obtained to be short. This suggests that the genetic
makeup of the tall parent can be depicted as
BT (R IS GO [P FHAGR 6 %I BRS IoN AR e o
AT WA RF SRIIT WIere WHRENE TefFe % @ET FAR oM
'3 | Ry 2R ST WYLHRGD I W 5% GR (R 5°5 | R FoAree
YRS ToR (FTCO1 g 1Y e (fde a=xe wifE 3 4R o[ I 7
OB oo [rmre b (I8N TR AT R S W TR @I
(TG WOR SRR KA WS el TeAlTe o= @uR AR oem ¢oF )
g om SRR YT RUF T6Y AR 6T oNEW (6 | IR FAFCIR TN
AMesa @ & Y o1 Coifde smer et 90 491 I ?

far T A '] Y™ 3 aeasn A v fawie e

frar) 3 fruri Rumm mewt mEE FAsR sEeEaE T fan-faw

frereE 2R BFET G BT

Fea ¥ e WA § o 7t F DY Rk S g A, 1 e A dt s
2, B TN 1| TR Hafy b T WA F T G 0 F A 0ig I

qre _

ﬁmﬁmﬁﬁlmwmm%%aﬁmwﬁw

&

(A) TTWW (B) ttww %WW D) TtWw
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SECTION—B / Y~ / y—q¢ / @—aTgr / T—awt

What do you mean by redox reaction? Find out the oxidation
and reduction half-reaction of the following : 1+(%54+%)=2

@' e e R R a7 oor RiFER o[l TR S R&Ea
‘ﬂm?@@ﬁf@m

o R e oR R w2 Tosw AR (wF R @ R
S (R NS

Ter T gersm M gfe? el PR At
I fREEE TR T’

wiam affen @ o = e £ P afafew # sg=fa oo
st gt 6t ve=mm il

] CuO+H, M)»CuJi-Hg()

?{ P.
mAE

),'.bi/TNrite the formulae of quicklime and slaked lime.  Yo+lh=1

ot ot e Ffafrs por wiers o o
¢! § <R PAfRfere poee SIS st |
TR gy I s gafwagen Bl

I U I a9 Fifes 97 FHHa fafa

47. Write the chemical equation involved in the dissolution of HCl in

water. Name the ions formed in this reaction.

1+1=2

HCl *Fe @age IRE @ TR R frn i Ridmmes ©
(R HAFCI2HE <M o ) <R

HCI &¢a1 WgS 919 ¥ =¥ PR RRE o | Rivrfics Seom
>y SRR T R )

HCl Ty niemmden aWiem  gamai Ao
S Ea—— N R Rermareara

@ # HCl A 9o § 87 T TRt
T S % T Rk G R R e
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48. 1}’hat do you mean by allotrope? Write the names of two allotropes
of carbon. How do they differ structurally? 1+(%4x2)+1=3

mimfﬁ%m?wiﬁmﬁmﬁwﬁﬁww
%ﬁg%m‘gfwﬁ QR ? FIECE I TR AW oA ) e S
ﬁﬁﬁmﬁ?ﬁﬁﬁ%ﬁghlmmm.
m%ﬂ%ﬁ?M%?W%%W%WWIWW

» What is amalgam? Name the two metals present in bronze,
Is bronze an alloy? Ye+1+34=2

GAFTM ¥ ? 3% 41 415 (5R W B 1 2 e 4Ty T 2
SRR 7 @y 4R 4T YT W T | g R e 3 ?
CHTSTTEAT /1?7 SteTT A o A § R swten Tems wrg 17
Ww%?mﬁm@aau@aﬂ%mmlwmwﬁm%?

50. What. is thermit reaction? Write the reaction involved in it,
Mention one use of it, %+1+14=2

WW%?WW@W@WJW@WWl
G R F 2 @3 I FNRA o1 | 91 o TWRER A |
e frrememear MAAR TEETR TR RR ) 3 R T R
gfie srfrfwar w7 vl e sivfe < Rifaw) s o s R

What is effective nuclear charge? How does effective nuclear

81.
charge change in group and period in the Periodic Table? 1+1=2
PR A S R 2 g ofere IR RPN s 3o S o
DTS (T ot TH? |
A AT S 2 ~rfige e IR REPR w14 35 <=2 Ry
FroR *fAafSe = 7
g FRfRmEr G 17 SR wa'asaE T FRfREr weten aren
AR FTFYR NI FER e S
Tt TR AW T 87 Inad GRoft W WE A e 3wt iy
s 4 afafda B 27
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52. A doctor has prescribed a corrective lens of power +!.'5 D: Find
the focal length of the lens. Is the prescribed lens diverging or

converging? 1+1=2
T e Rym ke R el +1'5 D. FRRIR TIR
o e ) O R @ SRR ?

T SO W e Aemm A AR G WSl +16 D.
TR FrRet i R Fean | % T SRR A WOPTRI 2

TR g'Fen fadm S B memEn /i fRen +1-5 D. SR % e
e g | fodw dm S=aen Fisne Wi A1 38t Wit

i SN +1-5 D & 1 wxie o Fuffa s ¥ Sw ® Hee g I
i) w7 Fratfa ow ifmmd ® stgan sed?

53. Explain two ways to induce current in a coil. 2
FOAS o WL TR B T TN TN g
Pofirs 27 wRkE AR 16 Tom o | %
17 Y ER R A T A
Toret et T farg-vmo Wi A ¥ < 91 we R

54. (@) Give the names of two energy sources that you would consider
to be exhaustible. Give reasons for your choices.

PR s 3 R 91 e 151 Sor am TrEy 3991 1 (omE e
TR WO

s AT D RN DR N e p—
IR e

mmwﬂ@ﬁ@aﬁﬁmmﬁﬁﬁ@mﬁg%uﬁﬁm’m

|

o A Fai |rat & W ffay, e

% i R #1 91 e % R
Or | %31 9=/ war/ sreray

(b) What is the role of decomposers in the ecosystem?
RS v Rt ghe & 9 ' 2

R org Reamsee ik 92 %%
W RranfRre SR gy B
m&ﬁaﬂmﬁaﬁﬁ@\@wﬁ? |
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55. The near pant of u hypermelropie sys ia 1 1, Whal, is the power of
the lens required to correct thin defsot? Assiine that, the near point
of the normal eye is 25 cn
'1" ‘ﬂh@ b_? \QB" M ﬁ@% ﬁaﬂj L m, ttm M‘FH‘! GHAILEL A4 21T L]
(AR WS RWA 2 4R a1 Asiiad B A1t fagh v 26 om.

T YR8 @3 v o0 Rab (4t 1. it oy zfasica s o
RS (FICHR WS FE 2 40q {19 AP (v e faah i 26 em.

MR 3T (ermarizfia) WAR ol fEdan 1 m. 4 hafad grar
THI SR =0 M SRA? @1 en Wi Ay wi fEm 25 em.
T Adgld g A w1 Rwe g 1m ¥ ya Am oFr defm e fag
m%ﬁuﬁmmirrﬂ?mm?ﬂﬁqummﬁmﬁwﬁ%
25cm 2|

7
58. A copper wire has diameter 0:5mm and resistivity of

o 1-6 x10™% O m. What will be the length of this wire to make its
resistance 10 Q7
G TNE T[RA I 0-5 mm WEF QTS 1-6x10 ° Om. 10 Q @&
7Y IR 93 TREEFR (v e ' 1R 2
ST THR TCEF IM 05 mm R @O 1:6x1078 O m. 10 Q0 @
ASHE T+ @3 TIA0F ol F© 28N 7IEIE 2
I FURM A @@ @R 05 mm AN TIEAR AR wE
1.6x10 8 O m. af 10/ STe & aRA TeUsan S8 WA

ﬁm‘raﬁ‘é%mm@%ﬂ-smmwml-sxlo‘sﬂm%l1OQ
mmﬁﬂ@ﬁ%%ﬁﬁaﬁﬁmﬁwﬁrﬁ?

ﬂ%‘) E:ntplainéQ why the sky appears dark instead of blue to an
astronaut.
TTREA TG WP A N ~ffAacS @791 ey
GEFT TEBR AFICM A8 NA-«qn AfAd (@1 e (e 2
qmi FETAA 4R ai gy staieh e [k sFmd AR @iy

13

[
ey arh-ardt w8 s A A s aren adl wdta ar 27
() Explain the Tyndall effoct.
R om AfAGBCET A0 Al )
Bron B anwn #car
frmafa e wga )
frem v #1 7H1 Sifsm)

1%

B24-GS/103B | Contd

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

( 28 )

68, Suppose three resistors Ri=50, Ry=100Q and Ry —30 Q) are
Eﬁnnected to a battery of 12 V in parallel. Calculate (a) the current

rough each resistor and (b) the total circuit resistance. 1%+1%=3

W XH R @ Ry =50, Ry =10Q 9® Rg=309 951 12 V4

g;:jﬁmww.mmﬂwmm) ARG AR T
(R[4l SRR T Bfonean Wi (b) IETOR P @Y Terea

W= 1% ey Ry =59, Ry =10 Q &R Ry =30 Q «I0 12 V-«

mﬂm TR STER e ¥ TR | (o) AR e vy fo
T 2T TR P I <=k (b) €N w6 A Fofy e |

TR W™ R Ry =50, Ry =100 9 Ry =30 0 @ 12V H
R St R ST ) () S oy At o
_mﬁmﬁgqm@msa@ " N

T Bureh g |
Tz_ﬂ?gﬁm?ﬁju?ﬁqﬁ&l:ﬁn,R2=1onaﬁIR3=30§lﬂ?flﬁVﬁ
TN # FhRE B T 1 (0) R R & e -
W@)me-wﬁﬂﬂmmla EAE e

Or | %1%t w1/ garf sraar &

An electric heater of resistance 8 ) draws 15 A from the service

mains for 2 hours. Calculate the rate at whi : )
the heater, - rate at which heat is developed in

SQﬁTﬁtﬂﬁtﬁW?ﬁi2ﬂﬁmWW 15A3!ﬁ1:€31¥1i§ﬂm
@ Beo (AR QA Shrear | -

8 (¥ (I Rt W 2 w1 o ey
rlbee wrrSesm zewmm = Ay 7 | C
8 0 iy W AR gom 2 Tenm R Ry

A RAR .ﬁu;m.mﬁmm

]
8 Q@ wiedy =11 gy fx R @ 2
e A W R AR T A ) e

WT 156 A 2RE = )

69. Suggest some approaches towards re

A ductio .
various natural resources. R of consumption of

SR AR ges 2

ﬁﬁam@mﬁwmmw%m%mml
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80. Where are gastric glands located? What role does the secretion of
these glands play during digestion? 1+2=3
T 3T @ o AfeEr a7 w3
TR« R 2
s @m www e @ Aewhm fome T cmdeR o IRT R
i e a2
e fagrasm wram a7 3 fadeen frfeem gErer A IEE TEEE
a1 fawrE wa?
mﬁ%ﬂwmwmm%mmmmmwﬁﬁw

e 37 _

Or / 71&31/ w3t/ wan/ sraar

Name the numerous finger-like projections present in the inner
lining of the small intestine. What is the significance of presence of
these structures in large numbers in that region? How is the
absorbed food taken to each of the body cells for obtaining energy?
1+1+1=3
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61. Draw a longitudinal section of a human heart and show with arrow
markings the course of the flow of blood through it. 2
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. . hat 18
What is translocation? Name the plant t559¢ t 141=2

this process.
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. : electrical
%62. Draw a nerve cell with proper labelling. Hﬂ‘? 1;:2153 travel?

impulse created and in which direction does this 1%+(¥+12)+14=3
What function do these impulses perform? '
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‘What are plant hormones? Give an example of a plant hormone
that promotes growth and the one that inhibits growth. 2+(146414)=3
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63. Give two points of differences between binary and multiple fission. 2
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Why is DNA copying an essential part of the process of
reproduction? 2

TR, qm. «. afefifrma demm ofFTR <b ST S ?
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s

. What are fossils? How do fossils help in finding out the route of
evolution? : 1+1=2

GErTRAR 3 7 SRrIAE @ Redaw sfeoy fAgian 3o 8 FE_ 2
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Or [ W33/ &1/ uar/ sreran

How did Mendel recognize the ‘dominant’ as well as the ‘recessive’
characters in his experiments? Discuss with suitable examples. 2
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